1. 
$$A = \begin{pmatrix} 7 & 6 \\ 6 & 2 \end{pmatrix}$$
,  $A - \lambda I = \begin{pmatrix} 7 & -\lambda & 6 \\ 6 & 2 - \lambda \end{pmatrix}$ 

$$\det (A - \lambda I) = (7 - \lambda)(2 - \lambda) - 36$$

$$= -22 - 9\lambda + \lambda^2 = 0$$

det 
$$(4\lambda^{\pm}) = 0$$
  $\Rightarrow$   $\lambda^2 - 9\lambda - 22 = 0$ 

$$\mathcal{E}_{-1}$$
 =)  $\lambda = 11$  .  $(\lambda - 11)(\lambda + 2) = 0$ 

$$=) \qquad \lambda = 1$$

2. 
$$\frac{9}{2} (e^{n} + e^{-x}) - \frac{6}{2} (e^{n} - e^{-x}) = 7$$

$$\therefore \frac{9}{2}e^{7} + \frac{9}{2}e^{-7} - 3e^{7} + 3e^{-7} = 7$$

$$\frac{3}{2}e^{x} + \frac{15}{2}e^{-x} = 7$$

$$=$$
)  $3e^{x}+15e^{-x}=14$ 

$$=)$$
  $3e^{2x} + 15 = 14e^{x}$ 

$$(e^{n}-3)(3e^{n}-5)=0$$
  $e^{n=\frac{5}{3}}$ 

 $S = \int \int \left(\frac{\partial x}{\partial t}\right)^2 + \left(\frac{\partial y}{\partial t}\right)^2 \partial t$  $n = a(t-sint) = \frac{an}{2t} = a(1-cost)$ y = a(1-cost) =) = a(5int)  $S = \int \sqrt{a^2(1-\omega st)^2 + a^2 \sin^2 t} dt$  $= \sqrt{a^2 \left(1 - 2\omega st + \omega s^2 t + \sin^2 t\right)} dt$  $= \int \sqrt{a^2(2-2\cos t)} \ \partial t$ = \\ \frac{2\alpha^2(1-\ost)}{2\alpha^2(1-\ost)} dt Cost = cos ?t - sin t V2 a S VI-cost dt

- 2a (2--2) (n'+4) 1/2 dx X22 = 12 1844 C2 = 1+52 = 52+1 x= 2 sinho M = sinho à= rsinh 2 x2= 40mh20 = \int (4 sinh20 +4) 1/2. 2 coshall = 2 cosh 0 = Cn(2 + 54 +1 dn= 2005A000 = 2 \ \( \frac{1}{4(\sinh^20+1)} \cost0 d0 Cos2 n = cos2 - sin2  $= 2 \int 2 \cosh^2 \theta \, d\theta = \int \int \int \int \frac{d\theta}{\theta} \, \cosh 2\pi \sin \theta \, d\theta = \int \int \frac{d\theta}{\theta} \, d\theta = \int \int \frac{d\theta$ cosh2x = 2cosh2x -1 cosh (2x)+1 = cosh =x = 4 S cosh 0 00 = 4 S cosh (20)+100 sihh 20 = 2 sihha cosh O = X JI+sihh20- $\gamma \sqrt{1 + \frac{n^2}{n}}$ = 2 [ = sinh(20) +0]+C = x \( \frac{\chi}{4} + 2 \m \left( \frac{\chi}{2} + \left( \frac{\chi}{2} + 1 \frac{\chi}{2} + 1 \right) + C sinh 20 + 20 + C Scanned by CamScanner

$$:$$
 siny =  $x$ 

I show that is the start of

x6 (m = )/ D

Steel (1/3 6. W

W. M. D. J. J.

$$\frac{\partial y}{\partial n} = \frac{1}{\cos(y)}.$$

$$\frac{\partial y}{\partial n} = \frac{1}{\sqrt{1-s_1}n^2y} = \frac{1}{\sqrt{1-x^2}}$$

(1-n2)-1/2

(b) 
$$\frac{\partial^2 y}{\partial n^2} = \frac{\partial}{\partial n} \left( \frac{1}{\sqrt{1-n^2}} \right) = -\frac{1}{2} (1-n^2)^{-\frac{3}{2}} (-2n)$$

$$= \chi (1-n^2)^{-\frac{3}{2}h_2}$$

$$\frac{\partial^2 y}{\partial n^2} = \frac{2}{(1-n^2)^3}$$

$$(1-n^2)\frac{\partial^2 \partial}{\partial n^2} = n(1-n^2)^{-3/2}(1-n^2)$$

$$= \chi \left(1-\chi^2\right)^{-1/2}$$

$$= \pi \cdot \frac{1}{\sqrt{1-n^2}}$$

$$= \times \cdot \frac{\partial y}{\partial x}$$

$$(1-n^2)\frac{\partial^2y}{\partial n^2} - n\frac{\partial y}{\partial n} = 0$$

6.(c).

$$I_{n} = \int_{0}^{\pi/2} x^{n} \sin n \, dn$$

Let  $u = x^{n}$   $u' = n \cdot x^{n-1}$ 

$$V' = \sin n$$

$$V' = -\cos n$$

$$U = x^{n-1}$$

$$U' = (n-1) \cdot x^{n-2}$$

$$V' = \cos n$$

$$V = \sin n$$

$$V' = \cos n$$

$$V' = \cos n$$

$$V = \sin n$$

$$V' = \cos n$$

$$V' = \cos n$$

$$V = \sin n$$

$$V' = \cos n$$

$$V'$$

(b) 
$$I_3 = 3\left(\frac{\pi}{2}\right)^2 - 6I_4$$

$$= \frac{3}{4}\pi^2 - 6\int x \sin n dx \qquad v' = \sin n \quad v = -\cos n$$

$$= \frac{3}{4}\pi^2 - 6\left[-\pi \cos n\right]_0^{\pi/2} + \int_0^{\pi/2} \cos n dx$$

$$= \frac{3\pi^2}{4} - 6\left(1 - 0\right)$$

$$= \frac{3\pi^2}{4} - 6$$

$$\frac{1}{3} = \frac{1}{3} = \frac{1}{3}$$

$$\frac{1}{3} = \frac{1$$

8. 
$$\overrightarrow{Ab} = \begin{pmatrix} 1 \\ 3 \\ 0 \end{pmatrix} - \begin{pmatrix} 2 \\ 0 \\ 1 \end{pmatrix} = \begin{pmatrix} -1 \\ 3 \\ 1 \end{pmatrix}$$

$$\overrightarrow{Ab} = \begin{pmatrix} 1 \\ 3 \\ 2 \end{pmatrix} - \begin{pmatrix} 2 \\ 0 \\ 1 \end{pmatrix} = \begin{pmatrix} -1 \\ 3 \\ 1 \end{pmatrix}$$

$$\overrightarrow{Ab} = \begin{pmatrix} 1 \\ 3 \\ 2 \end{pmatrix} - \begin{pmatrix} 2 \\ 0 \\ 1 \end{pmatrix} = \begin{pmatrix} -1 \\ 3 \\ 1 \end{pmatrix}$$

$$= \begin{pmatrix} 6 \\ 2 \\ 0 \end{pmatrix} = \begin{pmatrix} 3 \\ 2 \\ 0 \end{pmatrix} = \begin{pmatrix} 3 \\ 1 \\ 0 \end{pmatrix} = \begin{pmatrix} 3 \\ 2 \\ 1 \\ 0 \end{pmatrix} = \begin{pmatrix} 2 \\ 4 \\ 0 \end{pmatrix} = \begin{pmatrix} 2 \\ 4 \\ 0 \end{pmatrix}$$

$$Area = \begin{pmatrix} 1 \\ 6 \\ 7 \\ 1 \end{pmatrix} = \begin{pmatrix} 6 \\ 2 \\ 0 \end{pmatrix} = \begin{pmatrix} 3 \\ 1 \\ 0 \end{pmatrix} = \begin{pmatrix} 2 \\ 4 \\ 0 \end{pmatrix}$$

- 6 |-12+8 | = 2 Scanned by CamScanner

(c)
$$\int_{0}^{1} \int_{0}^{1} \int_{0}^{1}$$

$$q(a). \quad \frac{\pi^2}{a^2} - \frac{y^2}{b^2} = 1$$

$$\frac{b^2}{a^2} \frac{\pi}{\partial} = \frac{\partial y}{\partial x} \qquad \frac{cos}{sin}$$

$$\left(\frac{\partial y}{\partial n}\right)_{x=a} = \frac{b^2}{a^2} \cdot \frac{aseca}{bbana} = \frac{b^2}{a^2} \cos coseca$$

$$\frac{b}{a} \cos coseca$$

$$\frac{1}{b}\cos\alpha = -\frac{1}{b}\sin\alpha = -\frac{1}{b}\sin\alpha$$

Sgammed by Camscanner

(b) who need

by = 
$$(a^2+b^2)$$
 tend

 $(0, \frac{a^2+b^2}{b}$  tend

(0,  $\frac{a^2+b^2}{b}$  tend

in sho =  $(a^2+b^2)$  tend

 $\therefore n = \frac{(a^2+b^2)}{a}$  secd

 $\therefore n = \frac{(a^2+b^2)}{a}$  secd

 $\therefore M = \left(\frac{a^2+b^2}{2a}$  secd

 $\therefore M = \frac{a^2+b^2}{2a}$  secd

 $\therefore M = \frac{a^$ 

$$\chi^{2} = \frac{4b^{2}y^{2}}{ya^{2}} + \frac{(a^{2}+b^{2})^{2}}{(aa^{2}+b^{2})^{2}}$$

$$\chi = \frac{b^{2}y^{2}}{a^{2}} + \frac{(a^{2}+b^{2})^{2}}{(aa^{2}+b^{2})^{2}}$$

$$\chi^{2} = \frac{b^{2}y^{2}}{aa^{2}} + \frac{(aa^{2}+b^{2})^{2}}{(aa^{2}+b^{2})^{2}}$$

$$\chi^{2} = \frac{b^{2}y^{2}}{aa^{2}} + \frac{b^{2}y^{2}}{(aa^{2}+b^{2})^{2}}$$

$$\chi^{2} = \frac{b^{2}y^{2}}{aa^{2}} + \frac{b^{2}y^{2}}{(aa^{2}+b^{2})^{2}}$$